BEMRRBR (E%251)

I &Rl HR ®OO® HE Bify ] A
ERRELIE
EEHIHE BEY@EET) 1] =&
BEEET
EEILE BEmbhEENE . B 0.028 m3 |HEABEMLOIXEET)
BrmfsiENIE . & 0. 005 m3 |HHABE(OXEEFT)
EEI#HE BT (EE254) 1] =&
BEHIFEET BNRESHIREER - R E 0.63 | m2
avy ) — hEIEL a7 #l¥L, D16, L=270mm 12 fl
FyvEVY [E2cmd T 0.63 [ m2
T oh—mHiEA 12 w
FEAM MEE) IRFBEERTAM 12 | &Fr
XL YFERAE 0.149 | kg/=&
a9 1) — bk (BFEHMETI) | ock=24N/mm2, 24-12-25 (20) (F¥F) 0.14 m3
SRR (A EYRIET) SD345 D16 12 kg
SD345 D13 21 kg
BP (BEYLIET) 1.5 m2
Vhy FE#tT 20x10, )%k 1.4 m
PhEgMET FhEgMmisE 41 m
PhEéMeE T avy)—rEAEMA) 41 m
R MM S Ha 44 4
TS545y FETEARIL L [M20(4.6)B.N.W 1 #H
ERNET 1] K
wOE WL AV — b BH 0.04 | m3
fREx T 1] =&
HIERRET BRhWBEMEIARE (X4 JE) 12| m2




BEMELIL BERAR(EE2EH
1. LHIMHE (EEMMHEL)
BEEET
EEIX SBmbENE . 7
mEEE
FHr 0. 405 = 0. 405

A&t = 0. 405

HEARE wER wmiEE

FH 0.405 x0.070 = 0.028
A&t = 0.028

HIEHTE AXREEE

FH 0.405 x0.070 x1.18 = 0.033
A&t = 0.033

EEILE SmbhEmNE . &

mEiEE

FHT 0.18 = 0.180
= = 0.180

HERE wE® wEE

FH 0.180  x0.030 = 0. 005
= = 0. 005

HiEkE AXEEE

FH 0.180 x0.030 x1.18 = 0. 006

A/t = 0. 006



(E5E251)

MBS | 'm i (m) B’E (n) 58 Hfy ol
EEL® #E7 L SHHELE & t=0.070
F 4701 DI 0. 900 0. 350 0.315 m2
F 4701 D2 0. 300 0. 300 0.090 m2
NGt 0. 405 m2
A&t 0. 405 m2
EEL® #EYL SHHHLE  § t=0. 030
F 4701 H1 0. 200 0. 300 0. 060 m2
F 4701 H2 0. 300 0. 300 0.090 m2
F 4701 H3 0. 300 0.100 0.030 m2
NGt 0.180 m2
A&t 0.180 m2




2. LRI L WHEMEE I (E%X254H)

BEiFEET BNRESHIEER  ERE
A=10.300x0.700x3 = 0.63 m2
&t = 0.63 m2
oYy 1) — M a7 #l%l, D16, L=270mm
N=4x3 = 12 F
Bt = 12 #
FyvEVY [E2cmLdl T
A=10.300x0.700x3 = 0.63 m2
&t = 0.63 m2
Toh—mEA
N=4x3 = 12 XK
Bt = 12 =X
FEAM MHEE) IRFDEIERIAM
FHE= ((072—d"2) x w x1/4%xL) xMx (14+K)
D16 (270mm)
D=0. 0276m, d=0. 016m, L=0. 270m, M=1200kg/m3, K=0. 16 (O X &)
s = 12 #Ff
IXZYFEAE
V= ((0.0276°2—0.016"2) x 7t x1/4x0.270) x1200x =  0.149 kg/%
(140.16)
a9 ) — b EEEIEI) ock=24N/mm2, 24-12-25 (20) (&4F)
V=10.700x (0.20040.015) x0.300 x 34+0.01 x0. 300 = 0.14 m3
0.015IFF v EV T EHE a&t = 0.14 m3
£ (& EEYLIET) SD345
D16 W=4x3 = 12 kg
D13 W=7x3 = 21 ke
A&t = 33 kg
B (YRR T)
A= ((0.020+0. 200+0. 300) X 0. 700+0. 200X 0. 300x = 1.45  m2
2) x3
Bt = 1.45 m2
Vhy FBEi#T 2010, >)a>v &R
L= (0. 200+0. 300+0. 200) x 2 = 1.40 m
Bt = 1.40 m
V=1/2%0.020x0.010x (0. 200+0. 300+0. 200) x 2 x = 0.14 L
1000
A&t = 0.14 L
PHEEMEET FhEEME =
L=4.000 = 4.00 m
= = 4.00 m
PHEEMERE T a9 )—rERAEFAR)
L=4.000 = 4.00 m
= = 4.00 m
o SE A 3T 4 4
TS5y FERAAARIIL b M20(4.6)B.N. W
N=1 = 1 #H




3. EinET

B E
avy)— Rk 320
EEI 0.028 = 0.028
EEI 0.005 = 0. 005
FyELY 0.63%0.015 = 0. 009
HIFL 1/4x 7t x0.027472x0.270x 4% 3 = 0. 002
B it = 0.044
SEHEE 0.044x 2.3t/m3 = 0.10
4. RET
WIEARST BEEBEHEIARE (24 7E)
B=W1+0.8= 1.0+0.8= 1.8m
A=1.8x6.7 = 12.1

op

o
—+
1
N



HEMRER (EH3SH)

I/ ERl 5l B B HE BfI b7 A
BRRE
LET#HE B EMHIET) 1 =
EESET
EEIZE BRERTAEEALE - B 0.036 | m3 |HHAKB(EREFEY)
SRERTAERALIE « 0.012 | m3 |HHAHKBOEREFEY)
FERT S BHEMBET) (E|phEMEREZ T 1 =
BhEg Mg - S M S Gr-C-2B#H 24 80| m
PHEEMERE T Gr-C-2B-3 (4%) 8.2 m
B S 38 # k4 4t Gr-C-2B-3 (%)
b2 ®114. 3x4. 5, 1=790~890 3| @
Foh—TFL—F 250x250x6 3| @
yITL— b 150x80x6 3| @
F7oh—RILk M22 (4. 6) 3| #A
E—L L=4. Om 1| @&
E—L L=4. OmAIT 1| &
E—L L=4. OmAnT 1| &
I35y b 5| @
754y ETAIB. N W. [M20 (4. 6) 5| #
£ — LEef+FEB. N W. M16 (6. 8) 26 | #A
LEITHE GHEMEET) (HEMEET 1 =
BHIFEET BMRIESHIZEE - ERE 0.64 | m2
avyy—hEIR 3 7 AlFL, D19, L=315~371 12 7
FyEVY E2cmLL T 0.64 | m2
T oh—miEA 12 &
EAM FHE) IRFIBBRIEAM 8 | & FT
1RLYFERAE 0.253 | kg/&
IRFIBBRIEAM 2 | &Fr
1RLYFEHAE 0.278 | ke/&
IRFIBERIEAM 2 | &Fr
1RLYFEHAE 0.298 | keg/&
avy)—+k o ck=24N/mm2, 24-12-25 (20) (F4F) 0.29 | m3
S5 SD345 D19 24 | ke
SD345 D13 45 | ke
pith g A EYRIET 3.0 m2
Vhy FB#T 20x10, > yav%k 24 m




HERER

I &R A N W= B
ERNET 1] R
BB AL I avy ) — kb ak B 0.2 | m3
A9Z5v7 H—FKL—L 91 | ke
RE& T 1] R
WERARET BERhEBERHESIREE (24 JE) 18| m2




BREMELIL BERAR(EEIEH
1. LHIMHE (EEMMHEL)
BEEET
EEIX SBmbENE . 7
mEEE
FHT 0.45 = 0. 450

A&t = 0. 450

HEARE wER wmiEE

FH 0.450  x0.080 = 0.036
A&t = 0.036

HIEHTE AXREEE

FH 0.450 x0.080 x1.18 = 0. 042
A&t = 0. 042

EEILE SmbhEmNE . &

mEiEE

FHT 0.4 = 0. 400
= = 0. 400

HERE wE® wEE

FH 0.400 x0.030 = 0.012
= = 0.012

HiEkE AXEEE

FH 0.400 x0.030 x1.18 = 0.014

A/t = 0.014



(EE351)

BHES | 'm 18 (m) EE (n) 58 B fy A

EEL#® $57 L BHHHLE 4 £=0. 080

| F #4701 D1 0. 900 0. 500 0. 450 m2

INET 0. 450 m2

At 0. 450 m2

|
EEL#® $57 L BHHHLE  § £=0. 030

| FH701 HI 1.000 0. 400 0. 400 m2

INEH 0. 400 m2

At 0. 400 m2




2. LRI WEMEETI) (E%X35H)

PrEgfiERE A T

PHEEMHEE - SRATHE Gr-C-2BHEY
L=8.0

PHEEMERE T Gr-C-2B-3 (4%)
L=8.24

[ SE M 3 41 Gr-C-2B-3 (4%)

B2 3 ¢ 114.3x4.5, L=790~890
N=3

Foh—L—+k 250x250x6
N=3

yIFL—k 150x80x6
N=3

Froh—RIL bk N22 (4. 6)
N=3

E—L L=4. OmF
N=1

E—L L=4. OmEiT
N=1

E—L L=4. OmEiT
N=1

T35y k
N=5

TS5y MER{FTAB.N.W. M20 (4. 6)
N=5

E— LHER{FTFB. N W. M16 (6. 8)
N= 26

= 8.0 m
A&t = 8.0 m
= 8.2 m
&t = 8.2 m
= 3 A
A&t = 3 @&
= 3 @&
=11 = 3 A
= 3 @&
=11 = 3 A
= 3 #A
=11 = 3 #
= 1 &
A&t = 1 &
= 1 &
A&t = 1 &
= 1 &
A&t = 1 &
= 5 @&
&5t = 5 &
= 5 4
=11 = 5 #
= 26 #A
&t = 26 #A



PregfmER T
BHEET WBINRESHIEE - R E

A= 0. 300 x (0. 700+0. 358+0. 373+0. 350 x 2) = 0.64 m2
=11 = 0.64 m2
Vo) — kI a7 HI#., D19, L=315~371
N=4x3 = 12 #
&5t = 12 #
FyvEVY [E2cmEL T
A= 0. 300 x (0. 700+0. 358+0. 373+0. 350 x 2) = 0.64 m2
=11 = 0.64 m2
Toh—mHiEA
N=4x3 = 12 X
a&t = 12 XK
FEAM MEE) IRFIRERIAM
FEE= (072—d"2) x r x1/4xL) xMx (1+K)
D19 (315mm)
D=0. 0331m, d=0. 019m, L=0. 315m, M=1200kg/m3, K=0. 16 (O X =)
B = 8 T
IRXLYFER=E
V= ((0.033172—0.019"2) x m x1/4%0.315) x 1200 x = 0.253 kg/=&
(140. 16)
D19 (346mm)
D=0. 0331m, d=0. 019m, L=0. 346m, M=1200kg/m3, K=0. 16 (O X =)
AT = 2 &R
IRXLYFER=E
V= ((0.033172—0.01972) x m x1/4x0. 346) x 1200 x = 0.278 kg/X
(140.16)
D19 (371mm)
D=0. 0331m, d=0. 019m, L=0. 371m, M=1200kg/m3, K=0. 16 (O R )
AT = 2 &R
IRXLYFER=E
V= ((0.033172—0.019"2) x w x1/4%0.371) x 1200 x = 0.298 kg/&
(140.16)
avoy—+ o ck=24N/mm2, 24-12-25 (20) (& %F)
V=10.700x (0.400+0. 015) x0.300x 3+ (0.024+0.07+ = 0.29 m3
0.02) x0.300
0.015[FF v EV T EHE = = 0.29 m3
E59:7)] SD345
D19 W=8x3 = 24 kg
D13 W=15x%3 = 45 kg
&5t = 69 kg
B A EHLET
A= ((0.02040. 400+0. 400+0. 100) x 0. 700+0. 400 x = 3.00 m2
0.400%2) x340.0240.0740.02
= = 3.00 m2



Vhy BT 2010, >1)avxk

L= (0. 400+0.400+0. 400) x 2 = 2.40 m
a&t = 2.40 m
V=1/2x0.020%0. 010 x (0. 400+0.400+0.400) x2x = 0.24 L
1000
&5t = 0.24 L
3. EigunET
R IE M3
aVy)— k5% 37
EEI 0.036 = 0.036 m3
EEIX 0.012 = 0.012 m3
FyEYY 0.64x0.015 = 0.010 m3
Hil FL 1/4x 7t x0.0331%0.315%8 = 0.066 m3
Hil FL 1/4x 7t x0.0331%0.346 %2 = 0.018 m3
Hil FL 1/4x 7t x0.0331%0.371 %2 = 0.019 m3
Bt = 0.161 m3
SEZEE 0.161x 2.3t/m3 = 0.37 t
RY597 HA—FKL—JL
L—JL  31.8x2 = 63.6 kg
b2 13.6x2 = 27.2 kg
X L—I)LEEW=31. 8kg/4m =11 = 91.4 kg
KEXAEEEN=13. 6kg/ K (R 10m& H#HE)
4, [RET
HIEARET BRMmBEHIESIRAES (24 JE)
B=W1+0.8= 1.040.8= 1.8m
A=1.8x10.0 = 18.0 m2
Bt = 18.0 m2



